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(00) H (00) H (00 H (00) H (00 H (00)
k248 96. 2 0.0 96. 3 0.1 96. 2 0.4
25 96. 6 0.4 96. 6 0.2 96. 6 0.4
26 99. 2 2.7 99. 1 2.6 99. 2 2.6
27 100. 0 0.8 100. 0 0.9 100. 0 0.8
28 99.9 0.1 100. 0 0.0 99.7 0.3
28/3 99.7 0.0 0.1 99.6  -0.2 0.0 99. 6 0.2 0.2
4 99.9  -0.3 0.2 99.9 0.2 0.3 99.5 -0.3 0.1
5 100.0 0.5 0.1 99.8 0.7 0.1 99.9 0.6 0.3
6 99.9 0.4 0.1 99.7 0.4 0.1 99.6  -0.8 0.3
7 99.6 0.4 0.2 99.6  -0.4 0.1 99.5 0.8 0.1
8 99.7 0.5 0.0 99.9 0.3 0.3 99.6  -0.8 0.1
9 99.8 0.5 0.2 99.9 0.4 0.1 99.6  -1.0 0.1
10 100. 4 0.1 0.6 100. 8 0.5 0.9 100.1  -0.2 0.4
11 100. 4 0.5 0.0 100. 7 0.9 0.0 100. 0 0.1 0.0
12 100. 1 0.3 0.2 100. 6 0.9 -0.1 99.9 0.2 0.1
29/1 100. 0 0.4 0.2 100. 4 0.9 0.2 99.9 0.5 0.0
2 99. 8 0.3 0.1 100. 2 0.6 0.2 99.5 0.0 0.4
3 99.9 0.2 0.1 100. 2 0.6 0.0 99.3 -0.3 -0.1
] L i /N - L E i
COHIAE COHIAE COHIAE
A & #% <|atf> DET | FE O <|atf> DET | FE O <|atf> DRI
(%) & (%) L) (%) L) (%)
Rk 244 96.8 0.2 96.2  -0.3 96.6  —0.2
25 96. 9 0.2 96.1  -0.1 96. 6 0.0
26 99. 4 2.5 98.5 2.5 99. 3 2.7
27 100. 0 0.6 100. 0 1.5 100. 0 0.7
28 99.9 0.1 100. 0 0.0 100. 0 0.0
28/3 99.5 0.2 0.2 99.9 0.4 0.1 99.6 0.1 0.1
4 99.9 0.2 0.4 100.1  -0.1 0.2 100. 1 0.0 0.5
5 100.0  -0.4 0.0 100.1  -0.3 0.0 100.2 0.3 0.1
6 99.9 -0.3 0.1 100. 2 0.0 0.1 100. 1 0.0 -0.1
7 99.7 0.4 0.3 99.7 -0.3  -0.5 99.8 0.4 0.3
8 99.7 0.5 0.0 99.7 0.3 0.0 99.9 0.3 0.1
9 100.1  —0.4 0.4 99.8 -0.9 0.1 100. 3 0.0 0.4
10 100. 5 0.0 0.5 100. 6 0.1 0.9 100. 5 0.3 0.1
11 100. 6 0.7 0.0 100. 5 0.5 -0.1 100. 2 0.2 0.2
12 100. 1 0.6 0.4 100. 3 0.3 0.3 100. 0 0.1 -0.3
29/1 100. 2 1.0 0.0 100. 0 0.3 0.2 100. 2 0.7 0.2
2 100. 2 0.9 0.1 99. 8 0.0 0.2 99. 7 0.2 0.4
3 100. 1 0.6 0.1 99.8 0.1 0.0 99.9 0.3 0.2
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R 1R % (RA) RAK R B (RA) MRk | % (RA) wiAk R ¥ (AR) 8Bk |48 %K (RA) MiALk| 8 %k (MA) #iAk| 18 % (RA)wAKL
Dok Do Dok Do Dok Do DB
(%) (%) L (%) ! (%) (%) (%) L (%) ! (%) (%) (%) L %) () (%) (%)
UERAY 10000 2617 1862 753 374 437 424
244F | 96. 3 0.1 92.2 0.1 100.3  -0.4 96. 0 4.0 96.8 0.3 98.9 0.3 98.5 -1.0
254 | 96. 6 0.2 92.3 0.2 100.0 -0.3 97.9 2.0 94.7 2.1 99.8 0.9 97.9 -0.6
264F | 99. 1 2.6 96. 2 4.2 100. 1 0.0 102. 4 4.6 97.2 2.7 100. 4 0.6 98.8 0.9
274 |100. 0 0.9 100. 0 4.0 100.0 -0.1 100.0 -2.3 100.0 2.9 100.0 -0.4 100.0 1.2
284F (100. 0 0.0 101.8 1.8 99.8 -0.2 94.9 5.1 99.9 -0.1 102.7 2.7 100.5 0.5
28/3199.6 -0.2 0.0 [[101.6 2.3 -0.11]99.8 -0.3 0.1 ]195.0 -6.6 -0.8]99.2 0.1 -0.4 |101.6 3.9 1.9 1100.1 0.3 0.4
4 99.9 -0.2 0.3 |[101. 3 1.3 -0.3]99.8 0.0 0.0 [94.6 -6.6 -0.4 |101.0 -1.2 1.9 |102.9 2.8 1.4 1100.1 0.0 0.0
5 99.8 -0.7 -0.1 [|101.4 0.5 0.01]99.9 -0.2 0.0 [95.2 -6.7 0.6 |198.8 -1.5 -2.2|102.9 2.3 -0.1]100.5 0.2 0.5
6 99.7 -0.4 -0.1 [100.8 1.0 -0.6 199.8 -0.2 0.0 [94.5 -6.3 -0.8 |98.0 -2.4 -0.7 |102.5 2.6 -0.3 |100.9 0.8 0.3
7 99.6 -0.4 -0.1 [|100.9 1.0 0.11]99.8 -0.2 0.0 {94.1 -5.7 -0.41]99.6 0.0 1.6 |100.8 2.8 -1.7]101.1 1.0 0.2
8 99.9 -0.3 0.3 |[102.0 1.0 1.1]199.8 -0.2 0.0 [93.7 -5.4 -0.51]99.6 1.1 0.1 [100.9 4.0 0.1 ]100.8 0.5 -0.3
9 99.9 -0.4 -0.1 [|101.5 0.2 -0.51]99.7 -0.2 -0.11]93.4 -5.0 -0.3 |100.3 0.7 0.6 [105.1 3.2 4.1 1100.3 -0.5 -0.5
10 (100.8 0.5 0.9 |[103.6 2.8 2.0199.8 -0.4 0.0 [95.0 -3.0 1.8 |101.3 -0.3 1.1 |105.2 2.7 0.2 ]100.8 0.5 0.5
11 {100.7 0.9 0.0 |{103. 1 3.4 -0.4199.7 -0.5 -0.11]95.4 -2.7 0.4199.9 -0.4 -1.4 |106.1 3.3 0.8 | 101.0 1.1 0.2
12 {100.6 0.9 -0.1 |102.6 2.9 -0.5199.6 -0.2 -0.11]95.8 -1.9 0.5 |101.4 -0.3 1.5 |104.9 2.8 -1.1]100.7 0.7 -0.3
29/1 |100. 4 0.9 -0.2 |102.9 1.8 0.3 199.9 0.1 0.2 196.1 -0.3 0.3 |100.3 0.2 -1.1 |101.1 1.2 -3.6 | 100.5 0.7 -0.2
2 [100.2 0.6 -0.2 |102.4 0.7 -0.51]99.5 -0.2 -0.4]96.9 1.2 0.8 198.9 -0.6 -1.3 |101.0 1.3 -0.2]100.0 0.3 -0.5
3 |100.2 0.6 0.0 |[102.3 0.7 0.0 [99.4 -0.4 -0.1[97.6 2.7 0.7 198.0 -1.1 -0.9 |100.4 -1.1 -0.5|100.6 0.5 0.5
s@E - BRE | % ol omo%omox | B R R |smesrmoesTERFERUSTV
| | | | | |
A 4R K (RA) I HIA K| 8 %K (RA) AR k| 78 K (RA) AL | #8 % (FLA) A | #8 %0 (RLA) LW B |48 200 (FUA) A I
Pk p oo Pk p oo Pk p oo
(%) (%) (%) | (%) (%) (%) (%) | (%) (%) (%) (%) | (%)
UERAY 1735 213 906 679 9581 8698
244F | 98.8 0.4 96. 6 0.4 95.8 -1.2 94.5 0.1 96.9 0.2
254F [100. 1 1.4 97.2 0.6 94.8 -1.0 95.4 1.0 97.2 0.3
264F [102. 7 2.5 98.8 1.7 98. 1 3.5 98.8 3.6 99.4 2.3
2745 1100.0 2.6 100. 0 1.2 100.0 2.0 100. 0 1.2 100.0 0.6 100. 0
2845 97.7 2.3 101. 4 1.4 101.1 1.1 101. 1 1.1 99.7 -0.3 100. 6 0.6
28/3197.0 -3.2 -0.1 |100.3 1.3 0.0 |100.1 0.2 0.2 |100.8 0.9 -0.11]99.4 -0.3 0.0 |100.4 1.0 0.2
4 97.6 -2.3 0.6 |101.7 1.4 1.4 (101.4 1.4 1.2 |101.5 1.7 0.7 99.8 -0.2 0.4 |100.8 0.8 0.4
5 97.5 -3.3 -0.1 [101.7 1.4 0.0 |100.7 1.1 -0.6 (101.2 1.4 -0.2(99.7 -0.7 -0.1 [100.5 0.5 -0.2
6 98.4 -2.6 0.8 |101.7 1.4 0.0 |100.5 1.1 -0.2 (101.0 1.3 -0.2(99.6 -0.5 -0.1 [100.4 0.5 -0.2
7 98.0 -3.0 -0.4 [101.8 1.4 0.1 |100.8 0.8 0.2 |101.1 1.6 0.199.6 -0.6 0.0 |100.4 0.4 0.1
8 97.7 -2.7 -0.3 [101.8 1.4 0.0 |101.8 0.7 1.0 |101.0 1.1 -0.1(99.6 -0.4 0.0 |100.6 0.5 0.2
9 97.3 -2.5 -0.4 [101.8 1.4 0.0 |101.3 1.2 -0.4 (101.5 1.1 0.5(99.5 -0.6 -0.1 |100.5 0.1 -0.1
10 | 97.7 -1.8 0.4 |101.8 1.4 0.0 |102.5 1.8 1.1 |101.1 0.9 -0.4 |100.0 -0.2 0.5 |100.9 0.4 0.5
11 |98.3 -0.9 0.6 |101.8 1.4 0.0 |102.4 1.8 -0.1 (101.0 0.7 -0.1 [{100.2 0.1 0.2 |101.0 0.5 0.1
12 1 98.7 -0.4 0.4 |101.8 1.4 0.0 |101.6 1.6 -0.8 [101.4 1.0 0.5 [100.3 0.2 0.0 |100.9 0.5 -0.1
29/1] 98.2 0.7 -0.5 |101.8 1.4 0.0 |100.9 1.0 -0.7 [101.6 0.9 0.2 [100.0 0.5 -0.3 |100.6 0.3 -0.3
2 98. 1 1.1 -0.1 (101.8 1.5 0.0 |101.2 1.4 0.4 |101.0 0.2 -0.6[99.9 0.5 -0.2 |100.3 0.1 -0.3
3 97.7 0.7 -0.4 |101.8 1l ) 0.0 |101.7 1.6 0.4 |101.7 1.0 0 100. 0 0.6 0.1 |100.4 0.0 0.0
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28/3] 99.6 |101.6 5101.4 2100‘6 5101.8 2101‘4 99.8 2117‘2 5101.4 2101‘8 5100.9 2100‘4 98.9 2100‘8 99.8 99.6 100.9
4 |99.9 [101.3 1102.4 1101.3 1101.9 1100.9 1100.9 1105.3 $101.0 1101. 4 1100.7 1100.9 & 98.9 1101.3 | 99.8 1 99.6 : 100.9
5 |99.8 [101.4 1102.0 1100.5 1101.9 1100.5 * 98.6 1115.3 $102.3 '101.5 '100.1 '100.7 ' 98.5 '101.3 | 99.9 ! 99.6 : 100.9
6 | 99.7 |100.8 5101.9 5101‘8 ilOO.l 99.3 98.3 5107‘3 5102.4 5102 3 98.7 5101 2 97. 4 5101‘3 99.8 99.6 100. 8
7 | 99.6 [100.9 5101.7 5104‘9 97.5 5100‘0 98.0 5103‘2 5102.4 5101‘7 5100.5 5101‘5 98.6 5101‘3 99.8 99.6 100. 6
8 |99.9 [102.0 1 99.8 1107.6 1100.2 1101.4 1100.2 1114.7 '101.4 '101.6 '100.4 1101.9 ! 98.9 1101.3 | 99.8 ! 99.6 ! 100. 6
9 |99.9 [101.5 11005 1108.5 | 96.8 1100.9 }106.2 | 99.7 }100.8 1100.9 | 99.6 {1017 § 99.1 }101.1 | 99.7 | 99.6 | 100.2
10 [100.8 |103.6 5102.4 5104‘5 99.6 iloo 1 5121.1 iuo 3 5101.7 5101‘5 98. 1 5102‘6 99.9 5101‘3 99.8 99.6 100. 3
11 [100.7 {103.1 1102.3 1102.0 : 99.9 1100.3 116.7 1104.4 1101.0 1103.6 1100.2 1102.4 1100.9 1101.2 | 99.7 1 99.5 1 100. 4
12 [100.6 |102.6 1102.6 1105.0 ! 99.8 '100.6 '107.6 '109.4 '101.2 1104.0 | 99.8 1102.2 ! 99.0 11012 | 99.6 ! 99.5 ' 100.2
29/1(100. 4 |102.9 5101.1 2105‘0 5102.1 2100‘6 5105.2 2116‘8 5101.1 2104‘4 5100.4 2101‘ 5100.1 2101‘2 99.9 99.5 101.5
2 [100.2 [102.4 1102.1 1104.3 1103.5 i 99.5 1104.8 1112.1 11021 1101.9 + 99.0 1102.0 1 9.8 1101.2 | 99.5 1 99.1 + 101. 3
3 [100.2 [102.3 1102.2 1105.0 1104.7 ! 99.1 :100.9 $112.8 $101.4 '104.3  99.1 '101.7 1100.0 :101.2 | 99.4 : 99.1 : 100.7
T % *
" T A B[ E |, [FIEJE[Z]Z] X & z
. . e |, g | | " FIE | v [T T
” w | Flow | I
a | = K | B 5
5 i % | it w | | | JIZ &
K Bl | o | W | v | B T y
i K AN s £ i 1%} i 3 5 fin A L) £ AR i} fﬂ H b
28/3] 95.0 95.6 96. 1 70.9 ilO0.0 99. 2 94.1 5105‘6 98.9 5104‘3 99.8 99.9 [101.6 5101‘4 ilO0.0 5101‘7 100. 1 98. 1 104.9
4 | 94.6 194.7 194.6 1 76.4 1100.0 [101.0 i 99.8 1104.4 1 98.3 1104.0 1100.8 1 99.8 [102.9 1102.2 1100.0 1102.5 | 102.4 1 103.2 1 100.5
5 952 196.1 1941 1 75.2 1100.0 | 98.8 1 95.0 1102.5 | 98.3 1100.7 '100.9 | 99.8 [102.9 1102.6 1100.0 1103.0 | 101.7 | 101.9 | 101.2
6 | 94.5 595.0 93. 4 75.2 iloo.o 98.0 92.3 5101‘5 98.7 5100‘7 5101.5 99.8 [102.5 5102‘0 iloo.o 5102‘4 100. 7 99.0 104. 5
7 | 941 594.2 92.8 77.2 iloo.o 99.6 95.8 96. 2 5108.7 5101‘5 5100.5 99.8 [100.8 5101‘7 iloo.o 5101‘9 95.0 92.7 100. 4
8 |93.7 193.8192.0 1 76.0 1100.0 | 99.6 ! 96.7 1100.4 $108.7 1100.8 | 99.2 ! 99.8 [100.9 1101.7 1100.0 1102.0 | 95.1 ! 92,9} 100.4
9 |93.4193.6190.7 ! 76.8 '100.0 |100.3 ! 97.2 1101.6 '106.6 '103.0 | 99.8 ' 99.8 |105.1 1104.3 1100.0 '105.1 | 105.4 | 106.6 ' 102.5
10 | 95.0 93.6 90. 6 76.8 5107.3 101.3 5103.0 98.7 99. 4 2104‘5 98. 4 99.8 [105.2 2106‘4 iloo.o 2107‘6 105. 1 5105.7 103.6
11| 95.4193.6190.7181.5:107.3 | 99.9 1 98.2 1101.5 1101.7 1104.3 i 97.5 1 99.8 |106.1 1107.7 1100.0 1109.1 | 102.0 : 103.5 1 98.5
12 | 95.8 1 93.7 1 90.9 + 87.3 1107.3 [101.4 1103.6 | 97.7 1102.0 1104.3 : 97.5 : 99.8 |104.9 1105.0 1100.0 1105.8 | 100.9 : 102.3 | 97.7
29/1] 96,1 193.9 1 91.1 | 88.9 1107.3 [100.3 | 99.7 § 97.2 1102.0 1102.1 | 99.8 | 99.6 |101.1 {102.7 1100.0 103.2 | 93.1 | 90.4 | 99.5
2 | 96.9 94.8 91.4 92.8 5107.3 98.9 96. 2 595.3 5101.7 5102‘8 98.7 99.6 [101.0 5101‘4 iloo.o 5101‘7 95.2 93.0 100. 3
3 |97.6196.0 1 91.8 192.8 1107.3 | 98.0 ! 94.3 1 92.4 1101.5 1103.4 1 97.7 1 99.8 [100.4 1102.2 1100.0 1102.6 | 93.8 | 92.6 | 96.6
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28/3|105.1 1102.1 1100.6 [100.1 1100.6 i 99.2 1100.2 | 97.0 1101.5 + 95.3 1100.3 [100.3 1100.5 1100.2 1100.0 [100.1 {105.9 i101.0
4 |105.4 1104.8 1103.3 [100.1 ! 98.8 ! 99.2 1101.1 | 97.6 1100.0 ' 96.4 '100.0 [101.7 1102.8 :100.2 1100.0 |101.4 {105.8 !101.6
5 [105.4 1104.8 1102.3 |100.5 !100.8 ! 98.7 '101.1 | 97.5 '100.1 | 96.5 | 99.4 [101.7 !102.8 !100.2 '100.0 [100.7 {104.2 ! 99.3
6 [106.0 !104.3 }104.0 |100.9 1102.1 : 99.3 {100.9 | 98.4 | 99.5 | 97.8 | 99.4 |101.7 1102.8 ;100.2 {100.0 |100.5 {102.5 | 98.9
7 [105.1 1106.5 1102.2 [101.1 1102.9 | 99.3 1100.9 | 98.0 1102.2 ' 97.1 1 99.1 |101.8 1102.9 1100.2 1100.0 [100.8 {103.3 I 99.6
8 |105.1 '106.5 '103.3 [100.8 !101.5 ! 99.9 1100.9 | 97.7 '104.8 ' 96.4 ' 99.1 |101.8 !102.9 1100.2 1100.0 [101.8 {101.4 '100.7
9 |105.1 '108.8 !104.0 [100.3 | 99.8 | 99.6 !100.9 | 97.3 '100.0 ' 96.9 ! 97.7 |101.8 1102.9 1100.2 1100.0 [101.3 {101.2 '101.7
10 | 99.0 1115.0 1 99.4 {100.8 11011 1 99.1 1101.3 | 97.7 1100.2 1 97.5 1 97.6 [101.8 1102.9 1100.2 1100.0 {102.5 {102.8 1103.7
11 [103.5 1116.3 1104.0 {101.0 1101.6  99.5 1101.3 | 98.3 1 99.2 1 98.5 1 97.6 [101.8 1102.9 1100.2 1100.0 [102.4 {102.5 1104.0
12 [106.7 1117.1 1103.3 100.7 1100.9 ' 99.2 1101.3 | 98.7 ' 99.7 ! 99.1 ! 97.6 |101.8 !102.9 $100.2 1100.0 |101.6 {100.7 '102.2
29/1(106.7 1106.8 1104.0 [100.5 1 99.9 1 99.7 1101.3 | 98.2 1 98.9 : 98.8 1 96.7 [101.8 1102.9 1100.2 1100.0 |100.9 {101.5 1100.5
2 |106.7 1105.0 1104.0 [100.0 ' 98.4 1 99.3 1101.3 | 98.1 ! 99.0 : 99.4 | 95.0 [101.8 !102.9 1100.9 :100.0 |101.2 {106.4 :100.5
3 | 98.2 1112.6 104.0 [100.6 | 99.0 !101.0 '101.3 | 97.7 1100.5 ! 99.5 ! 92.6 |101.8 1102.9 1100.9 '100.0 |101.7 {105.2 '102. 1
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28/3|100.3 | 99.2 [100.8 1100.0 !100.8 !105.1 !100.0 }100.2 || 89.5 [100.9 |{100.4 | 99.9 [104.1 | 99.2 | 99.1 |117.8
4 [100.4 :101.1 [101.5 :100.0 :100.2 :107.2 :1101.6 :101.4 || 90.6 |101.9 |101.3 | 99.4 [102.1 |101.5 |101.0 |104.6

5 |100.3 :101.2 |101.2 5100.0 100.1 1105. 1 5101.6 5101.4 91.3 (101.9 |100.8 | 98.9 |103.1 [100.4 | 97.3 (115.2

6 [100.2 1101.2 |101.0

' 1100.0 ! 99.3 1104.7 1101.6 1101.4 | 92.4 [101.9 [100.5 | 98.9 [101.3 {102.3 | 97.1 |106.7

7 |100.4 5101.1 101. 1 §1oo.o 99. 0 5106.3 ilOl.6 5101.4 91.2 {101.9 [101.1 | 98.9 [101.2 [107.3 | 95.8 [102.4
8 |100.6 1102.6 {101.0 1100.0 i 98.8 1105.6 1101.7 1101.4 || 89.8 [101.9 |102.3 | 98.9 [107.0 [111.2 | 99.0 |114.5
9 |100.4 1101.4 |101.5 1100.0 '100.0 '107.9 1101.7 1101.4 | 90.2 [101.9 |101.4 | 98.9 [108.0 |115.5 |108.3 | 98.7
10 [100.5 11023 [101.1 1100.0 | 98.6 1107.2 1101.7 1101.4 | 91.0 |101.9 |102.5 | 98.8 [118.0 |107.6 |131.1 |109.9
11 {100.5 5102.1 101.0 §1oo.o 98.4 5106.5 5101.7 5101.4 92.5 (101.9 [102.3 | 98.8 [112.1 [103.8 |123.9 [103.7
12 [100.4 1101.6 |101.4 1100.9 1 98.0 1110.9 1101.7 1101.4 | 93.7 {102.8 {101.6 | 98.8 |109.2 [109.1 |109.3 |108.9
20/1(100.7 1101.0 |101.6 '100.9 ! 99.2 1110.2 1101.7 '101.4 | 93.9 [102.3 |100.8 | 98.4 [110.0 |110.1 |105.7 |116.6
2 [100.7 5101.2 101.0 5100.9 97.5 5107.6 5101.7 5101.4 95.3 (102.4 [101.1 | 97.8 [107.8 [108.7 |104.7 [111.7
3 [100.6 :1101.4 [101.7 1100.9 :100.5 :108.1 1101.7 1101. 4 | 96.2 [102.5 |101.7 | 97.8 |105.3 [108.3 | 98.4 [112.4




